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KEY AND MARKING SCALE
NB. PLEASE ACCEPT ANY APPROPRIATE ANSWER NOT MENTIONED IN THIS KEY.
I. COMPREHENSION (15 POINTS)
(Testees should not be penalised for grammar or spelling mistakes in the comprehension section)
A. TRUE OR FALSE+ JUSTIFICATION: (3 pts: 1 pt for each correct and justified answer )
1. F: Touriareturned to Morocco together with her French husband/spouse Michel.
2. T :Herhusband agrees to raise their children in accordance with traditional Moroccan values.
3. F:They are foreigners when they come to Morocco, and they are Moroccans when they go to a foreign
country.
B. WH QUESTIONS: (3 pts : 1 pt for each appropriate answer )
1. ...because of cultural differences/ she thinks mixed marriages will only cause problems
2. She met him in a friend’s house.
3. Statistics show that the number increased.../ rose from 1,366 in 2001 to 4,320 in 2009

C. SENTENCE COMPLETION: (3 pts: 1 pt for each appropriate completion )
1. ...her father /they wanted to test him.
2. ... get moral and financial support
3. ... that mothers have the right to pass their Moroccan citizenship on to their children of foreign husbands.

D. WORD MEANING: (3 pts: 1 pt for each correct answer)

1. spouse 2. roots 3. believes
E. WORD REFERENCE: (3 pts: 1 pt for each correct answer)
1. Touria’s mother 2. Pedro 3. children (born to mixed marriages)
Il. LANGUAGE (15 POINTYS)
A. GAP FILLING: (2 pts: 0.5 fore ach correct answer)
1. may 2. needn’t 3. eating 4. where.
B. SENTENCE REWRITING: (3 pts: 1 pt for each correct answer )
1. weren’t sent 2. I'had studied 3. how he could remember
C. VERB TENSE: (2 pts: 1 pt for each correct answer )
have you taken - will finish
D. GAP FILLING: (2 pts: 0.5 pt for each correct answer )
1. consumption 2. harmful
E. WORD FORM: (2 pts: 1 pt for each correct answer )
1. independent 2. arrangement(s)
F. MATCHING: (2 pts: 0.5 pt for each correct answer )
1-b Concession 2-a Cause and effect 3-d Purpose 4-c. Addition.

G. FUNCTIONS: (2 pts: 1 pt for each correct answer )
Accept any appropriate answer

HILLWRITING (10 POINTS)
Scoring criteria Scores
Relevance of content to the tasks (3 pts)
Paragraph and composition organisation (2 pts)
Appropriateness and variety of vocabulary (2 pts)
Accuracy of grammar (2 pts)
Mechanics (Spelling, punctuation, capitalization) (1 pts)










